   SOIT
       T UN VECTEUR ( 10 ) ;

       L UNE LISTE ;

       Lprime UNE LISTE DE LISTE ;

       Recherche2 UNE ACTION ;

       Recherche UNE ACTION ;

       Rech UNE ACTION ;

       Construire UNE ACTION ;

       Pas UN ENTIER ;

   DEBUT
       Pas := 5 ;

       INIT_VECT ( T , [ 12 , 23 , 45 , 56 , 60 , 66 , 70 , 75 , 78 , 98 ] ) ;

       APPEL Recherche ( 98 ) ;

       CREER_LISTE ( L , [ 12 , 23 , 45 , 56 , 60 , 66 , 70 , 75 , 78 , 98 , 123 , 167 , 200 , 236 , 267 , 289 ] ) ;

       APPEL Construire ( L , Lprime ) ;

       APPEL Recherche2 ( Lprime , L , 23 ) ;

   FIN
   ACTION Recherche ( Val )

   SOIT
       Bi , Bs , N DES ENTIERS ;

       Val UN ENTIER ;

       Trouv UN BOOLEEN ;

   DEBUT
       Bi := 1 ;

       Bs := 10 ;

       Trouv := FAUX ;

       TQ ( Bi <= Bs ) ET NON Trouv

           N := ALEANOMBRE ( Bs - Bi + 1 ) ;

           ECRIRE ( 'n=' , N ) ;

           SI Val = ELEMENT ( T [ Bi + N ] )

               Trouv := VRAI
           SINON
               SI Val < ELEMENT ( T [ Bi + N ] )

                   Bs := Bi + N - 1

               SINON
                   Bi := Bi + N + 1

               FSI
           FSI
       FTQ ;

       ECRIRE ( Trouv )

   FIN
   ACTION Construire ( L , Lprime ) ;

   SOIT
       L , P DES LISTES ;

       Lprime UNE LISTE DE LISTE ;

       Q , Prec DES LISTES DE LISTE ;

       I UN ENTIER ;

   DEBUT
       Lprime := NIL ;

       P := L ;

       I := 1 ;

       TQ P <> NIL
           I := I + 1 ;

           SI I = Pas

               Pas := Pas + Pas ;

               ALLOUER ( Q ) ;

               AFF_VAL ( Q , P ) ;

               AFF_ADR ( Q , NIL ) ;

               SI Lprime = NIL
                   Lprime := Q

               SINON
                   AFF_ADR ( Prec , Q ) ;

               FSI ;

               Prec := Q

           FSI ;

           P := SUIVANT ( P )

       FTQ
   FIN
   ACTION Rech ( Val , L1 , L2 , Trouv )

   SOIT
       L1 , L2 , P DES LISTES ;

       Val UN ENTIER ;

       Trouv , Arret DES BOOLEENS ;

   DEBUT
       P := L1 ;

       Trouv := FAUX ;

       Arret := FAUX ;

       TQ ( P <> L2 ) ET NON Trouv ET NON Arret

           SI VALEUR ( P ) = Val

               Trouv := VRAI
           SINON
               SI VALEUR ( P ) > Val

                   Arret := VRAI
               SINON
                   P := SUIVANT ( P )

               FSI
           FSI
       FTQ
   FIN
   ACTION Recherche2 ( Lprime , L , Val ) ;

   SOIT
       Lprime , Q , Prec DES LISTES DE LISTE ;

       L UNE LISTE ;

       Trouv , Arret DES BOOLEENS ;

       Val UN ENTIER ;

       Der UNE LISTE ;

   DEBUT
       Trouv := FAUX ;

       Arret := FAUX ;

       Q := Lprime ;

       TQ ( Q <> NIL ) ET NON Trouv ET NON Arret

           SI VALEUR ( VALEUR ( Q ) ) = Val

               Trouv := VRAI
           SINON
               SI Val < VALEUR ( VALEUR ( Q ) )

                   SI Q = Lprime

                       APPEL Rech ( Val , L , VALEUR ( Q ) , Trouv )

                   SINON
                       APPEL Rech ( Val , VALEUR ( Prec ) , VALEUR ( Q ) , Trouv )

                   FSI ;

                   Arret := VRAI
               SINON
                   Prec := Q ;

                   Q := SUIVANT ( Q )

               FSI
           FSI
       FTQ ;

       SI Q = NIL
           Der := NIL ;

           APPEL Rech ( Val , VALEUR ( Prec ) , Der , Trouv )

       FSI ;

       ECRIRE ( Trouv )

   FIN
